Function Project	


The straight line


	y = x


passes through the point (1,1). It has a slope of 1 and a y-intercept of 0. This is what we see in Figure 1.
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Suppose we make a Cartesian plane in which we plot slope on the vertical axis and y-intercept on the horizontal axis. In the plane we can represent our straight line by the point (0,1) as shown in Figure 2.
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In order to make sure that you understand how the xy plane is related to the slope intercept plane, here is an exercise. Find the points in the slope-intercept plane that correspond to each of the following straight lines in the xy plane.


a. 	y = 2x + 3


b.	y = –2x + 3


c.	y = 2x – 3


d.	y = –2x – 3


What we have just shown is that everything you know about linear functions that can be represented in the xy plane can be also represented in the slope-intercept plane. That means that an algebra class somewhere might choose to study linear functions this way. Write a chapter of an algebra book that represents linear functions graphically as points in the slope-intercept plane.


Be sure to take into consideration:


the behavior of constant functions.


the behavior of functions of the form y = mx.	


the representation of linear functions whose graphs in the xy plane are parallel.


the representation of linear functions whose graphs in the xy plane are perpendicular to each other.


the representation of families of linear functions whose graphs in the xy plane all go through one common point.


Devise a different method of characterizing a linear function by two parameters and discuss the similarities and differences with the slope-intercept method.
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